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1. Three resistors. each of R are comected to form a triangle. The equivalent resistance betweets
any two terminals will be

(1) %RQ (2) 2RO
MRS C2

{3} RO (4) 3RO

G

i

(1. Four 100 W bulbs are commected in parallel across 200V supply line. It one bulb gets fused
(13 no bulb will glow (2} all the four bulbs will glow
(3) rest of the three bulbs will glow (4) one bulb wiil glow

12.  Four capacitors having capacitances of Suf. 1028, 15uF & 204 F are connected parallel

—_

across 600 V mains. The capacitor having least charge wiil be
K (27 10pF
(3) 15ufl (4y 200 51 T

T
I'#}

Faquatizer rings are required it a lap wound DC machine - -

(13 t0 improve Commuiation

(7 to filwer out harmonics ¥ gt
(3} o prevent the How of crenlating cugrent through brushes N
(4} w reduce armature reaction
P4 1M series motor has lincar magnetization and neghaible armature reststance. T iy torque.,
the motor speed 18
(1} directly proportionai io i a2 inversely proporiional to G
(3} directly proportional 1o 1 B {é}--fina-rel“se}w* proporiional to’l

13, In a DC generator, eny sduc 1o I'Lbidl]dl :ﬂux is ﬁ?d back to the shunt winding positively. Why

does the 1o load voltage builduptoa finite steady value

(1Y because of figld winding iaductance (2) because of magnetic saturation

{3} because oftficld winding resistance (4) because of cddy current loss in pole shoes
¥ g,

[0
A
i

nler-poles help Lunmmwl on 10 a 3C machine by
D) {far’;‘{:e.hﬂq: tn’e_%‘-ﬁ'J"mal:_;i-c rerction mml
{b) ak 1ng the main poles
4 f:{_;ﬁ"} by causing statically induced emt’ in the coils undergoing comnait tation
() by causing dynamicailv induced emf in the coils undergomg conunutation
17, A G600V DC motor drives 1 60 kW load at 900 rpm. [f the motor efficiency is 85% determine the
current drawn from the supply :
(1Y T17A (2) 130A

13) 90A (4) 150A

eimte e emin Doefe mif etermmSdramendl hamie 03 mteimZEememvripieie siF e Diie e wrE amemd B e it T Lt Lo B R
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inoa 10 sancr he e -t B E
Wi P SO ralor ne m 1Tne 1 feuiral AXis Coincigsy wilh : The Qﬁ{)‘ﬂ{”rl{:‘* neiltal ax 15 whe
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e R e . b
(1) thers is no load on the senergror (1) the ¢

Berator runs of full inad

e generator runs on overion tyoHe gener UNS O
2 Lo runs O ovesiong (2} the gencraior runs on designed spesd]

515

The mosi efficiont form of dumping used in electrical meusurine nstrumen
i a e e »
L) air ienon damping Ty i e
i) a T ARmping 43 e friction damping
(3- E{r{f‘&' l';" "iﬁn'-‘:i-!!r :___,_2 _1‘_"' L0 y o i
(3} S MOCHITen _Iml’].ix}_ﬁm {ri} st Fsis dd‘]}f_}’Tﬁ
p&t":[-.n__,T \!-1'.( .’.-'l'-l:"""'!-a = -]-1 -;y[ LT - 3|‘. i T 1-3< Ve A e ey -

o HkiZDeD HIOVINE Cotl INSir A1 CAan mcasure
- L B ERrrte i 5 o AdPH
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{.ﬂ‘;\l hatl A und TH mngntities P wimencde b AT ; £ i
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0w series RLOC cirewit R = 382, X, = j642, X = — j2Q. What s the voliage applicd across the

I

combination if the scries current 18 '[[} o TAGRAY
L5624 300V (2) 30 £ - 90°V
M = a0y (4)30£ - 90°V

-

Vhree cireult elements, & = 200 A = 382 A ~ j10€2 are connected in parallel. I the supply

-\-

J :
freguency is 50 Hz, find the woput admitlance

s =7 0.1) mho (23 (2 - j5) mho
(31¢2 + 15y mho (4) (5 — i1} mho

Sclectivity of a resonating circwt is defingd as

(11 (hand width) ¢ {resonance frequency) (2} {resonance frequency) / (band width)
{3y {resonance frequency )’ x (band widih} (4} (resonance frequency) x (band width)

¢ property of resonance of paraliel LRU cireust 13

i1y pover factor 15 zcro {2) current 18 Max1um

Py et amedance cireuil s minimum (4} cur T T -

i S o] ‘T}]}JL{I{T”CC il UL i Ldia!'J.JlnLt,'_fé 1T, \.zme_-EI]L l"_‘r -1-.E| i A

e on balanced delia connection of a three phase system, the line currents are "~ behind the

2apeciive phase cuwrrants

' e Ty _: :‘.--I
H ["i h ""."J ._IE:-.I‘ .

T T TN MTaL

G S '-.-.\-:' {4} L‘fﬂ :

¥V, 50 Hz source supplicd po.wr%r m‘-vamﬁ phase balanced motor load, [f the line

rent 18 25 "s nower factor being 0.80 obtain the real power consumed.

(1) 13.856kW | tZ} 1.3856kW

Sy TAN.S6kW =y : T {4) 100kW

£

An nduction motor draws athree phase power and two wallmeler measurenent is applied to

Tl the total power. It W and ¥, arc the watt meter readings. find the total threc phase real

DR fj"‘J ‘113?;1 rtanm power (Q

(31 P g W ::«V g O=indods U =R (3= LR b~ Q= (I

2] P:”(I-i W} L3 P ) XY E W W), O=1132% (¥, )

-.-,.d
m¢¢$

if a wansformer core has air gaps, then

{

3

iy reluctance of magneiic nath is decreased  (2) hysteresis loss (s decreased

{31 megnelizing current is greatly mersased t4) eddy current is increased

210 V2300 V single phase transformer takes no load current of 34 at §.23 power factor
.";_i:.f.ia“.;,;. The core foss is

2W (2) 192.5W
SRTSW 4) 212.6 W
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A transformer has 200 W as iron loss at {ull load. The ron loss at half load will be
{1} 50W (2) 1OGW

(3) 400W | (4) 200W

Under no load condition, the power factor of a transformer is

(1) zero | (2) unity

(3) less than 0.5 lagging (4} less than (.5 leading

A 40 kVA transformer has iron loss of 450 W and full load copper loss of 850 W. If the power
factor of the load is 0.8 lagging, the full load efficiency of the transtormer is

(1) 85.2% (2} 96.1%

(3) 78.5% (4) 91.2%

Ina A~ A connection, if one ransformer becomes disabled, the capacity wili reduce te
(1) 66.67% (2) 57.74%

(3) 50% | (4) 33.33%

For successful parallel operation of two single phase iransformers, ihe most essential condition
is that their i m
{1) perceniage nrpedances are equal (2} polaritics are properly connected

(3) turns ratios arc cxactly cqual (4) kVA ratings arc ¢qual |

In salient pole field structure. the pole shoes cover about B of pole pitch

(1) one-third (ZY ome-halt ™ .

(3} two-third {4} whole =

A 3-phase, 16 polc alternator has a star connected winding with 144 slots and 10 conductors per
slot, The flux per pole 1s 30 m Wb sinusoidally distributed and the speed 15 375 rpm. The
frequency of the generated et s |

(1)25Hz (2) 30Hz

(2) 100H | ST 4) 20082

An under exeited alternator supphies -

(1) lagging VAR~ (2) leading VAR

(3) no reactive power {4} no active power

Puil-out terque 01% practical synchronous motor will occur when the torque angle is about

ﬂ%&)ﬁi' ’ (2) 3¢°

(3)45° (4) 75°

T A synchronous motor is operaiing with normal excitation. With the increase m load the anmaturs
" current drawn from the supply mains increases due io

(1) increase in back emf
(27 f@all in motor specd
(3) increase in resultant voliage across the armatuge

(4) increase in power factor

e T et A Ca At M ettt T e st e e T = e T S ] B e m ], Do T e e T e e
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46. A synchronous motor is connected fo a consiant voltage and constant supply frequency. The
moter is initially opersted at lagging power factor. When the field current is increased

(1) the load angie increases
SR b : e
{2} the power mput increases

tacior decreases

e’

(33 the power
(4) the armature current decreases upto a certain limit and then increases

47.  Double cage induction motor, over an ordinary squirret cage inductior motor has the advaniage
of

(1) larger slip (2) hgher efficiency
(3} higher power factor (4) reduced starting current

48. A 12 pole 3 phase star connected induction motor runs at 600V, 50 Hz, It has a rolor resistance
of 0.03 ohm phase and standstill reactance of (.5 ohm phase. The slip corresponding to max imum
torgue under running conditions is '

(1) 2% (2) 4% 1
{3} 6% (4) 1%
49, When the supply voliage 1o an induction motor is reduced by 10% the maximun torgue will
fecreass by approxamately ; L
- - . et 2o, g -\_;.,,.- w
(13 5% (2) 0% :

(31 20% | (4) 40%

56.  The capacitor start, capacitor run single phase u"ldl:CT!Dﬂ moior has

o

{11 no centrifugal switch T {2} low power factor
T .
3y noisy eperation 6 S L (4) low efliciency

51. The torque bpcu,& “_'h{,...!. AC %Luatic {:ff 4 n,;:r sion motor resembles torque speed characteristic of

_ de moter.

S %" "§ 3 b 3
(1} 5::parat=::§v-em;1tcd {2} shunt
? E r i e . T
) (1; series i {(4) compound

82. The single phase shaded pole motor has

s _;;-{i} squiriel cage rotor {2} wound rofor
e :. {31 high power factor {4} high stariing torque
52,  Unbalanced supply voltage given to a 3 phase delta connecied induction mntor wili canse
(1Y 7810 SEQUETCE CuriEits 2} less heating of the motor
{33 pegative Segusnee comnonent cutret {4) balanced cwrents
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54,  Which of the following power plants has the least operating cost
(1) hydro ' (2) thermal
(3) nuclear (4) diesel
53.  Ina hydro power plant. Water hammer is developed in
(1) surge tank (2) water turbine
(3} penstock (4) draft tube
36. A condenser in a steam power plant condenses steam coming out of
(1) turbine (2) boiler
(3) economizer {4) super-heater
37.  When the rate of electrical energy is charged on the basis of maximum demand of the consumer
and the units consumed is called
(1) simple taritt (2) tlat rate tanff N ek »»;:
(3) two part ariff (4) power factor 1arift i
58.  The purposc of the moderator in a nuclear power plant is to control the
{1 flow of water iniet o B
(2} amount of unclear fuel into the reactor : ;o
(3) nuclear fission rate by slowing down the neutrons . h
(4) control the steam flow to the turbine B
5% The ratio of average load o the maximum demand during a given peri 1 is known as
(1) load factor S {Z2) demand factor
(3) diversity factor : : (4) plant capacity facior
60.  The device that detects the fault in a power system is
(1) circ_uit br‘e’:_af_ice;t: ' *f* {2) solator
& o E R .
(3)relay Gexs (4} earthing switch
6i. Thf: buchholz reléy is normalily used for the pro*zciion of the following equinment
( 1y ;’f:ijﬂélS. former (2) alternator
{3) bus-bar (4) transmission line
62.  An over-current relay having current setting of 125% is ¢ -nected to a supply circuit through 2
current transformer of 400/5A. The pickup current is
(1)6.254 (2) 12.5A
(3) 3.125A (4) 25A

collegedunia:s

India’s largest Student Review Platform




174

T e L Sl

&3.

&4.

&6.

6%,

L

£

£
it

- -
e e e e e et o £ e oD St T P e e o A S T SR R T e { . '|' E {__ E"" i ?_ﬁ'{ i

HTOV/220 V single phase transformer 18 o be protected a differcntial protection. If the €T
ratio on primary side (1. side) is 50/5A, the suitable CT ratio on the HY side 18

(1} 100/5A (2) 200/5A

(3) 25/5A (4) 12.5/5A

The distance relav normally used for the protection medium lines s

(1} impedance relay (23 reactance relay

[;3-} Mo relay {4) IDMT relay

For the same power rating, which of the following circuit breaker 1 lcast in size

{1} oil circuit breaker (2) air-blast ¢ircuii breaker

(3) vacuum circuil breaker (4) SF circut brea Ker

ACSR (aluminum conductor steel reinforced} are emp Hoved as overhead conductors because of

a. lighiness h. electrical conductivity ¢. raustlessness

:.j'l} aand b only (2) b and ¢ only

{(Ncanda {4v a, b and ¢ it

The advantase of ndied conductors 18 .

{1} high voliage gradiont (2} high corona oSS

{3y hish swrge wmnpedanoe (4} increase in TransTSSion cApacity

The concept of Selt G313 applicable for

el a;:apaci{am@ oni I?.} 'ihdﬁcm nee only

(3) both capacitance and Inducta nce:ff_‘:_ 14} st camacitance and resistance
. . “wer o, E

it T‘?'ﬁ are ihe parameters of & Aomina} Tt}"’}'ﬁ‘ medim rapsoission Hne, then AL B, O, B
- e

4 V7 T i TerE s

= r Y/‘r:’ ")
(1) A=p1+ ‘?nb:z | b T Ce¥ D=t L
: K o 2 ll-._ & ; %, 2 ;-l!

= 5 i

. 2 ; "{E' /' " {'{‘ _.II —

A VI e YE
[ - /" ] ! ] | A s Foea } ¥ e 5
R — A L N = Tt = SRR ? i ¥ B :_

4 L. 15

| T Y o7

s g-ta el LA Z Yy of
fa o P T R o £ e L =) i — i) = | :
s i | i : ~
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sl diameter

3y bundled conductors
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{31 hypo
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conductors only

- o - = L i
F H — E:, i E {; r" (T F‘ [ P R e T BT S R SRR S B e T e e I 5 gy
P L k] il =3 L

0} fong transmission line. the surge impedance (£} is given by

il o

¥

can be reduced by using

(2 less height of the conductors from the ground
niy {43 both small diameter & bundled cor Queiors

Rictor between

The main requirement of e instdating mate
ion resisianc
deslecinic strenglh

s

rwo supports of cgual length takes the form of

for canle is Wt

should be non~lyy

(43 It should be pic

ihe s

]
=

ACTGES

P e c{}'ndliﬁﬁfﬂ'

R, S s

(1Y neares (21 Ln.dle of ?if:_fw_-
(Y ponny Thorn (4) bmw w nllﬁdi., & awny Fon the condiuc o
gt AEly  LESFLED
: = L3 rvere A 30 prn TF ths
A sivele core cable has a conducior ciiameff‘r ot d, o ‘Emr‘: ffim}a{.m thickness of vy om iF o
e H ; "‘s;  E - 1= .. I & -"'":'.-'='--'-1i o ‘."’i"-‘- :E TEE
specific resistance of the nsulation IS pm cie. The formula used o carculaie e inswiahen
resistavee R fora f km length of the {:abi
‘ ﬁ 3 .
fr4ed Jmi 2 107 P
; L5 el ; P BT T B - o 18y e
(13 4p -0 - Hzel »10 \I}l‘\};jc'; ----------- e k: (it _—A-j;—le-éﬂ e
FER ! '. I i P :{} ) 7 i
: } b | E: ; : '
s
L P ‘ ™, i d - Lo
¢ oy {' . &1;\ ! no— R , o~ li.f ] | 3‘.] o T*:: 'J.}
{3} {priu™ j (200X 107 jlog,: —— 142 (45 ---—ﬂag-lugei —— 2
ot o o : S 2l 10 T
The main drawback of the radial distribution sysieny are
1) the conswmers are not dependent of single fecdes
27 the end of the distributor nearssi to feeding point will not be heavily loaded
1 1 £ i e als a1kt et VO T o T lvge Gy
31 the consumer af the distant end of distributoss will be su jected W sorieus Oitaoe Huciuabiong
when jowd on the distribator changes
(1 ¢ oand 2 (1) 2 oaud 3
2 e -e'\-l".'
:_‘.fi v o B }:I;_:r"

i e s b b i A
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77. In a traction systen:, the distance between two stations is 1 km and the schedule speed 15 30
kmph. Station stop time is 20 sec. Calculate the average speed. (Assume speed time curve 1s
approximated by a trapezoidal curve)

(1) 36kmph (2) 30kmph
(3) 10kmph (4) 3kmph

78.  The factor(s) ~ which affects the specific energy consumption in a traction system, for
a given scheduled speed
(1} distance between stops (2) the acceleration and retardation
(3) gradient (4) all of the above

7%,  Quadrilateral speed time curve is used for
(1) suburban service only (2} urban service only
(3) main line service only (4) both suburban and urban services

80. Because of _ , sleamengine drive in a traction system is being gradually replaced by either
diesel electric or straight electric system e
(1) low thermal cfficiency (2) low coefhicieat of adhes}on
3y unbalanced reciprocation parts (4) all of the above :

§1.  Which of the following is important for driving equipment used for traction plrpose
i1 high coefficient adhesion iy ”

2) low coefficient adhesion Seih.  *

3) wear caused on the brake shoes and wheel Tj&ﬁqs%ﬁﬁuld Be minimum
4) poliution free /

(1) 1 and 3 only (2) 2 and 4 only

{312, 3 and 4 only (4} 1, 3 and 4 only

§%.  The main requirements of traction motor Is
(i) 1{JW_:S_Eéillti%g?__t{}l‘t‘lilﬁ (2% heavy in weight
(3) casy '.“Spe{};it%f@ntrd;i (4) regenerative braking is not desirable

83, fhe symbol X fﬁzpresenis

: (1 } "g*i*{aub of lamps

(3) ceiling mounted larp

(2) will mounted lamp

(4) fluorescent lamp

84 Which Thdian electricity rule pertains to clearance above ground of the lowest conductor of
power lines’
(1) 57 (2} 79
(3) 77 (4) 87
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Mormal area of —-

UESTION PAPER st st s s s tns bz e st o wiens

50 SWG coppier conductor 1s

HRC stands for

(1} high rupturing capacity

(33 hcat resistance capacity

§7.

(1) enufter and base are "N

{3Y ermirer 15 'P and bass s

Pt
e

the tinse pertod of inpus vaitag

I a WPN transistor

BT

Im 1N
-

B
L

h

ViR EE o
RV B N O e
P

4

)
£

(1) livis Gl

[kt
1
I\.

o0

i owiineh of the foliowing dovices reverse b

fdentitv ihe untversal

ey
R

IERERTE
b{.;jlﬁc

diodc

33 sibicon conlrolled rectifier

gates (rom the following
Cand EX-OR

Voand NOR

wi

{urrent geinds more than unity 2nd voltage gain is

S :':. -..-.
(1) CF and CBamplifiors

o et

-
R [
E 2 1 HERE! (R |
e S e AL A B e D g F s AR S L i B i S i S L g e P S o R e T

P it . {oG . ;
 The binary value of decimat value 1

(3) CC amplifier only

-r’,gﬂ:l ‘iC,

1 e

auing s useful

T CONsSIsiE

i By ke ] i e e i s AT bm el L e e S gl

{2} 2.58q.min

{4y 7.0sq.mm

(2 high rupturing current
(4) heat rupturing capacity

P

(2) collector and emitier are ‘N’

[4y coliector 18 'P' and base is A’

full-wave rectifier 15 40 ms, then the time perisd &

{2 4ms

(4

Ahms b

diode |

(4] cener
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1 CE and CC amplifiers

OO
100G1010

et inllowing two transisiors

e —

Cedroente epelr angd other LGT
L

T T T, T am b T T L G S e R e it TR s T ey,

e 1T T

a'\J!_

- . ,
T i PREEY
{}Lj.u (RN

R T

collegedunia:s

India’s largest Student Review Platfarm



'E I? %ﬂﬁ-ﬁﬂm'_wﬁﬂﬂwuwcr T e i el it o e 3 e l:: -r = S 1 EE J:: E TI ? '& F E H

94.

96,

169.

LASCR has
(

(;

4 semiconductor layers and 3 junctions

S

sgmiconducter layers and 2 junctions

e
d

(3)
)

(4} 3 semiconductors lavers and 3 junctions

a
[

—F

semiconductor layer and 2 junctions

In a single phase full converter fed by a source having nductance, the number of thyristors
conducting during overlap 18

(1) one (2) two

(3) three (4) four

A single phase half bridge inverter required to feed RL loads, needs

(1} two thyristors

(2) four thyristors | % i
(3) two thyristors and two diodes |
(4) four thyristors and four diodes

e

A step down de chopper has an input voltage V. If duty cycle 15 ‘o and the load 1s resistive, the

rs value of out-put voltage is e

(1) o (2) Ja v

3y o2V (4) (Tzo)V

. i J{'

A bridge type single phase cyclo-converter changes-the frequency t 10 | Then one halt wave

¢ outpul contains gt

(1) three full waves of input <.

(23 three half waves of input el : 5

pEE A Ei ..x:a.,c o 2 Ey

(3% six full waves orinput

(4) six half waves. of input

T ; B ¢ a:-” : . : & 3, 4 ::ﬁ
 Internal RAM §ize of 8051 microcontroller is _ bytes -

{1y 128K (2) 4K

(3) 128 (4) 64K

A separately excited de motor is fed from a 360V de through a one quadrant chopper. resistance

of the armature is 0.1 ohm and armaturc ‘cusrent is 200A. The voltage constant is 1 4VrA rad/

cee. If the field current is 2A and the duty cvele of the chopper is 0.5, find the speed i radfsec

(ty 8214 {2)90.14

o e S Cal A
(3 7214 (43 100,14
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